ACCIDENT BOOK

(Regulation 66)

EMPLOYEES' STATE INSURANCE CORPORATION

15

NZML

Name of Factory:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

SI. No.	Date of Notice	Time of Notice	Name & Address of Injured Person	Sex	Age	Insurance No.	Shift, department and Occupation of the employee	Cause		ls of In	jury		What exactly was the injured person doing at the time of accident	address and signature or the	Signature and designation of the person who makes the entry in accident book	Name, address and occupation of two witness	Remarks , if any
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18

NO EMPLOYEE MET WITH AN ACCIDENT DEPLOYED AT Amazon Transportation , Mayapuri IN THE M/O july-2021



MUSTER ROLL

FORM XVI See Rule-78 (1) (a) (i) Central Rules, 1971

NZML

Name & Address of Contractor: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature & Location of Work : House Keeping / Delhi

Name & Address of Establishment Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Name & Address of Principal Emp Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

For the Month of : Jul-21

																	Da	te/U	nits															
Serial	Name	Gender	26	27	28	29	30	31	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	No. of
1	2	4																5																6
336536	MUKESH KUMAR	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
713944	MUNNI DEVI	FEMALE	Α	W	Р	Р	Р		Р	Р	Р	w	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
736692	GULAB SINGH	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
736693	SACHIN BAGRI	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
737922	SANDEEP	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
736695	ANIL	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	P	W	26



REGISTER OF WAGES Form XVII

[See Rule 78(1)(a)(i)]

NZML

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana) Name and address of Contractor :-

Nature and location of work ...:- House Keeping /Delhi....

Name and address of Establishment in/under which contract is carried on ... Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Name and address of Principal Employer :-Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064 Wage period Monthly.

Sl. No.	Name of workman	Serial No.	Designation /	No. of	Units of	Daily-rate			Aı	mount of v	wages ear	ned				Dedu	ctions		Net	Signature/	Initial of
		in the register of workman	nature of work done	days worked	work done	of wages / piece rate	Basic Wages	Dearness Allowances	HRA	Incentiv e	ARREAR BASIC	LEAVE PAY	BONUS PAY	Total	PF	ESI	GPAI/ LWF	OTHER /GTL	amount paid	Thumb impression of workman	or his repre- sentative
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22
1	MUKESH KUMAR	336536	HOUSE BOY	26	NA	612	15908	0	0	0	1216	1377	1325	19826	1946	149	0.00	95	17636	A/C Pay	BANK PAY
2	MUNNI DEVI	713944	HOUSE LADY	25	NA	612	15296	0	0	0	1152	1324	1274	19046	1869	143	0.00	95	16939	A/C Pay	BANK PAY
3	GULAB SINGH	736692	HOUSE BOY	25	NA	612	15296	0	0	0	1200	1324	1274	19094	1875	144	0.00	95	16980	A/C Pay	BANK PAY
4	SACHIN BAGRI	736693	HOUSE BOY	26	NA	612	15908	0	0	0	1152	1377	1325	19762	1938	149	0.00	95	17580	A/C Pay	BANK PAY
5	SANDEEP	737922	HOUSE BOY	26	NA	612	15908	0	0	1224	1248	1377	1325	21082	1950	159	0.00	95	18878	A/C Pay	BANK PAY
6	ANII	736695	HOUSE BOY	26	NA	612	15908	0	0	0	944	1377	1325	19554	1913	147	0.00	95	17399	A/C Pav	BANK PAY



Jul-21

FORM XX [See Rule 78 (1) (a) (ii)]

Register of Deduction for Damage or Loss

NZML

Name and Address of Contractors : G4S Facility Services (I) Pvt. Ltd. Name and Addr

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

		Father's /	1 /	of damage	Damage	against	explanation	deduction	No. of	Date of 1	recovery	
Sl. No.	Name	Husband's Name	Designation	or loss	or loss	deduction	was heard	imposed	instalments	First	Last	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13

NO DEDUCTION HAS BEEN MADE IN THE MONTH OF July-2021



FORM XX I [See Rule 78 (1) (a) (ii)] Register of Fines

NZML

Name and Address of Contractors:

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Sl. No.	Name	Father's /	Name of	Act/Omissio	Date of	Whether	Name of	Wage periods	Amount of	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO FINE HAS BEEN CHARGED IN THE MONTH OF July-2021



FORM XX II [See Rule 78 (1) (a) (ii)] Register of Advance

Name and Address of Contractors : NZML Name and Address of Establishment in / G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, under which contractors is carried on :

village Jharsa , Gurgaon - 122001 (Haryana) Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Sl. No.	Name	Father's /	Name of	Wage	Date and	Purpose(s)	No. of	Date and	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11

NO ADVANCE HAS BEEN GIVEN IN THE MONTH OF July-2021



FORM XXIII

REGISTER OF OVERTIME

(See Rule 78 (1) (a) (iii)

NZML

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Nature and Location of Work: House Keeping, Delhi

Name and Address of Establishment in / :

under which contractors is carried on Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Name and Address of Principal Employer: Amazon Transportation Services Pvt. Ltd. A-89, Mayapuri Industrial Area, Phase-2, New Delhi - 110064

Seriol	Name of	Father's/Husbands	Sex	Destination	Date on	Total	Normal	Overtim	Overtime	Date of	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO OVERTIME HAS BEEN PAID IN THE MONTH OF July-2021



ACCIDENT BOOK

(Regulation 66) **FORM**15

UDL5

EMPLOYEES' STATE INSURANCE CORPORATION

Name of Factory:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

SI. No.	Date of Notice	Time of Notice	Name & Address of Injured Person	Sex	Age	Insurance No.	Shift, department and Occupation of the employee	Cause		ls of Ing	jury		What exactly was the injured person doing at the time of accident	Name, occupation, address and signature or the thumb impression of the person(s) giving notice	Signature and designation of the person who makes the entry in accident book	Name, address and occupation of two witness	Remarks , if any
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18

NO EMPLOYEE MET WITH AN ACCIDENT DEPLOYED AT Amazon Seller ,Okhla IN THE M/O July-2021



MUSTER ROLL

FORM XVI See Rule-78 (1) (a) (i) Central Rules, 1971

UDL5

Name & Address of Contractor: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature & Location of Work : House Keeping / Delhi

Name & Address of Establishment Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020 Name & Address of Principal Emp Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

For the Month of: Jul-21

																	Da	te/U	nits]
Serial	Name	Gender	26	27	28	29	30	31	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	No. of
1	2	4																5																6
726243	AKASH KUMAR	MALE	Α	w	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
726242	AJAY	MALE	Α	W	Α	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	24
726244	BADSHAH	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
741451	CHANDRABHAN	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
741452	NAVEEN KUMAR JHA	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
742280	DIPAK ADHIKARI	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
302019	NAURANG SINGH	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
736393	LOKESH	MALE	Α	W	Α	Α	Α		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	22



REGISTER OF WAGES Form XVII

[See Rule 78(1)(a)(i)]

UDL5

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana) Name and address of Contractor :-

Nature and location of work ...:- House Keeping /Delhi....

Name and address of Establishment in/under which contract is carried on ... Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Name and address of Principal Employer :-Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020 Wage period Monthly. Jul-21

Sl. No.	Name of workman	Serial No.	Designation /	No. of	Units of	Daily-rate			Ar	mount of v	wages earı	ned				Dedu	ctions		Net	Signature/	Initial of
		in the register of workman	nature of work done	days worked	work done	of wages / piece rate	Basic Wages	Dearness Allowances	HRA	Incentiv e	ARREAR BASIC	LEAVE PAY	BONUS PAY	Total	PF	ESI	GPAI/ LWF	OTHER /GTL	amount paid	Thumb impression of workman	or his repre- sentative
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22
1	AKASH KUMAR	339464	HOUSE BOY	25	NA	612	15296	0	0	0	1056	1324	1274	18950	1857	143	0.00	95	16855	A/C Pay	BANK PAY
2	AJAY	339935	HOUSE BOY	24	NA	612	14684	0	0	0	1232	1271	1223	18410	1809	139	0.00	95	16367	A/C Pay	BANK PAY
3	BADSHAH	546362	Multi Skilled Techni	26	NA	742	19291	0	0	0	1482	1669	1607	24049	1978	181	0.00	95	21795	A/C Pay	BANK PAY
4	CHANDRABHAN	726245	HOUSE BOY	25	NA	612	15296	0	0	0	1248	1324	1274	19142	1881	144	0.00	95	17022	A/C Pay	BANK PAY
5	NAVEEN KUMAR JHA	726551	HOUSE BOY	26	NA	612	15908	0	0	0	1248	1377	1325	19858	1950	149	0.00	95	17664	A/C Pay	BANK PAY
6	DIPAK ADHIKARI	726309	HOUSE BOY	26	NA	612	15908	0	0	0	672	1377	1325	19282	1881	145	0.00	95	17161	A/C Pay	BANK PAY
7	NAURANG SINGH	735917	HOUSE BOY	25	NA	612	15296	0	0	0	1200	1324	1274	19094	1875	144	0.00	95	16980	A/C Pay	BANK PAY
8	LOKESH	729051	HOUSE BOY	22	NA	612	13461	0	0	0	1248	1165	1121	16995	1673	128	0.00	95	15099	A/C Pay	BANK PAY



FORM XX [See Rule 78 (1) (a) (ii)]

Register of Deduction for Damage or Loss

UDL5

Name and Address of Contractors : G4S Facility Services (I) Pvt. Ltd.

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

		Father's /	1 /	of damage	Damage	against	explanation	deduction	No. of	Date of 1	ecovery	
Sl. No.	Name	Husband's Name	Designation	or loss	or loss	deduction	was heard	imposed	instalments	First	Last	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13

NO DEDUCTION HAS BEEN MADE IN THE MONTH OF July-2021



FORM XX I I See Rule 78 (1) (a) (ii) l Register of Fines

UDL5

Name and Address of Contractors:

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Sl. No.	Name	Father's /	Name of	Act/Omissio	Date of	Whether	Name of	Wage periods	Amount of	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO FINE HAS BEEN CHARGED IN THE MONTH OF July-2021



FORM XX II [See Rule 78 (1) (a) (ii)] Register of Advance

Name and Address of Contractors : UDL5 Name and Address of Establishment in / G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, under which contractors is carried on :

village Jharsa , Gurgaon - 122001 (Haryana) Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Sl. No.	Name	Father's /	Name of	Wage	Date and	Purpose(s)	No. of	Date and	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11

NO ADVANCE HAS BEEN GIVEN IN THE MONTH OF July-2021



FORM XXIII

REGISTER OF OVERTIME

(See Rule 78 (1) (a) (iii)

UDL5

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Nature and Location of Work: House Keeping, Delhi

Name and Address of Establishment in / :

under which contractors is carried on Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Name and Address of Principal Employer: Amazon Seller Services Pvt. Ltd, C 2, Okhla Phase 1, New Delhi - 110020

Seriol	Name of	Father's/Husbands	Sex	Destination	Date on	Total	Normal	Overtim	Overtime	Date of	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO OVERTIME HAS BEEN PAID IN THE MONTH OF July-2021



ACCIDENT BOOK

(Regulation 66)
FORM
15

UDL4

EMPLOYEES' STATE INSURANCE CORPORATION

Name of Factory:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

SI. No.	Date of Notice	Time of Notice	Name & Address of Injured Person	Sex	Age	Insurance No.	Shift, department and Occupation of the employee	Cause		ls of Inj	,		What exactly was the injured person doing at the time of accident	address and signature or the	Signature and designation of the person who makes the entry in accident book	Name, address and occupation of two witness	Remarks , if any
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18

NO EMPLOYEE MET WITH AN ACCIDENT DEPLOYED AT Amazon Seller , Pulbangas IN THE M/O july-2021



MUSTER ROLL

FORM XVI See Rule-78 (1) (a) (i) Central Rules, 1971

UDL4

Name & Address of Contractor: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature & Location of Work : House Keeping / Delhi

Name & Address of Establishment Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Name & Address of Principal Emp Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

For the Month of : Jul-21

																	Da	te/Uı	nits]
Serial	Name	Gender	26	27	28	29	30	31	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	No. of
1	2	4																5																6
303192	SURESH RAM	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	18
334227	RAKESH KUMAR	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Α	Α	Α	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	13
713945	RAKHI	FEMALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
726247	DEV NARAYAN PANDEY	MALE	Α	W	Α	Α	Α		Р	Р	Р	W	Р	Р	Ρ	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	22
726307	GANGA SINGH	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Ρ	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
731922	DHEERAJ KUMAR	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Α	Α	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	14
735953	KRISHAN CHAUHAN	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Ρ	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	16
736638	SANDEEP	MALE	Α	W	Ρ	Р	Р		Р	Р	Р	W	Р	Р	Ρ	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
737925	SAJIT	MALE	Α	W	Ρ	Р	Р		Р	Р	Р	W	Р	Р	Ρ	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
731288	HARISH CHANDRA YADA	MALE	Р	W	Ρ	Р	Р		Р	Р	Р	W	Р	Р	Ρ	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
740951	AMIT KUMAR	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26



REGISTER OF WAGES Form XVII

[See Rule 78(1)(a)(i)]

UDL4

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana) Name and address of Contractor :-

Nature and location of work ...:- House Keeping /Delhi....

Name and address of Establishment in/under which contract is carried on ... Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Name and address of Principal Employer :-Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007 Wage period Monthly.

Sl. No.	Name of workman	Serial No.	Designation /	No. of	Units of	Daily-rate			ıΑ	nount of v	vages earı	ned				Dedu	ctions		Net	Signature/	Initial of
		in the register of workman	nature of work done	days worked	work done	of wages / piece rate	Basic Wages	Dearness Allowances	HRA	Incentiv e	ARREAR BASIC	LEAVE PAY	BONUS PAY	Total	PF	ESI	GPAI/ LWF	OTHER /GTL	amount paid	Thumb impression of workman	or his repre- sentative
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22
1	SURESH RAM	303192	PANTRY BOY	18	NA	675	12141	0	0	0	1152	953	917	15163	1384	114	0.00	95	13570	A/C Pay	BANK PAY
2	RAKESH KUMAR	334227	OFFICE BOY	13	NA	612	7954	0	0	0	1248	689	663	10554	1050	80	0.00	95	9329	A/C Pay	BANK PAY
3	RAKHI	713945	HOUSE LADY	25	NA	612	15296	0	0	0	1200	1324	1274	19094	1875	144	0.00	95	16980	A/C Pay	BANK PAY
4	DEV NARAYAN PANDEY	726247	HOUSE BOY	22	NA	612	13461	0	0	1538	1232	1165	1121	18517	1671	140	0.00	95	16611	A/C Pay	BANK PAY
5	GANGA SINGH	726307	HOUSE BOY	26	NA	612	15908	0	0	1538	976	1377	1325	21124	1917	159	0.00	95	18953	A/C Pay	BANK PAY
6	DHEERAJ KUMAR	731922	Dispatch Rider	14	NA	742	10387	0	0	0	1064	899	865	13215	1097	100	0.00	95	11923	A/C Pay	BANK PAY
7	KRISHAN CHAUHAN	735953	HOUSE BOY	16	NA	612	9790	0	0	0	976	847	815	12428	1225	94	0.00	95	11014	A/C Pay	BANK PAY
8	SANDEEP	736638	HOUSE BOY	25	NA	612	15296	0	0	0	1184	1324	1274	19078	1873	144	0.00	95	16966	A/C Pay	BANK PAY
9	SAJIT	737925	HOUSE BOY	25	NA	612	15296	0	0	0	1168	1324	1274	19062	1871	143	0.00	95	16953	A/C Pay	BANK PAY
10	HARISH CHANDRA YADAV	731288	HOUSE BOY	26	NA	612	15908	0	0	0	1056	1377	1325	19666	1927	148	0.00	95	17496	A/C Pay	BANK PAY
11	AMIT KUMAR	740951	HOUSE BOY	26	NA	612	15908	0	0	0	1184	1377	1325	19794	1942	149	0.00	95	17608	A/C Pay	BANK PAY



Jul-21

FORM XX [See Rule 78 (1) (a) (ii)]

Register of Deduction for Damage or Loss

UDL4

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Name and Address of Establishment in / G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana) Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

		Father's /	1 /	of damage	Damage	against	explanation	deduction	No. of	Date of 1	recovery	
Sl. No.	Name	Husband's Name	Designation	or loss	or loss	deduction	was heard	imposed	instalments	First	Last	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13

NO DEDUCTION HAS BEEN MADE IN THE MONTH OF July-2021



FORM XX I I See Rule 78 (1) (a) (ii) l Register of Fines

UDL4

Name and Address of Contractors:

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Sl. No.	Name	Father's /	Name of	Act/Omissio	Date of	Whether	Name of	Wage periods	Amount of	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO FINE HAS BEEN CHARGED IN THE MONTH OF July-2021



FORM XX II [See Rule 78 (1) (a) (ii)] Register of Advance

Name and Address of Contractors: UDL4 Name and Address of Establishment in / G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, under which contractors is carried on:

village Jharsa , Gurgaon - 122001 (Haryana) Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Sl. No.	Name	Father's /	Name of	Wage	Date and	Purpose(s)	No. of	Date and	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11

NO ADVANCE HAS BEEN GIVEN IN THE MONTH OF July-2021



FORM XXIII

REGISTER OF OVERTIME

(See Rule 78 (1) (a) (iii)

UDL4

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Nature and Location of Work: House Keeping, Delhi

Name and Address of Establishment in / :

under which contractors is carried on Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Name and Address of Principal Employer: Amazon Seller Services Pvt. Ltd, Pulbangash Metro Station, Roshanara Road, New Delhi - 110007

Seriol	Name of	Father's/Husbands	Sex	Destination	Date on	Total	Normal	Overtim	Overtime	Date of	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO OVERTIME HAS BEEN PAID IN THE MONTH OF July-2021



ACCIDENT BOOK

(Regulation 66) **FORM**15

UDL2

EMPLOYEES' STATE INSURANCE CORPORATION

Name of Factory:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

SI. No.	Date of Notice	Time of Notice	Name & Address of Injured Person	Sex	Age	Insurance No.	Shift, department and Occupation of the employee	Cause		ils of Inj	jury Time		What exactly was the injured person doing at the time of accident	Name, occupation, address and signature or the thumb impression of the person(s) giving notice	Signature and designation of the person who makes the entry in accident book	Name, address and occupation of two witness	Remarks , if any
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18

NO EMPLOYEE MET WITH AN ACCIDENT DEPLOYED AT Amazon Seller ,Peeragarhi IN THE M/O july-2021



MUSTER ROLL

FORM XVI See Rule-78 (1) (a) (i) Central Rules, 1971

UDL2

Name & Address of Contractor: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature & Location of Work : House Keeping / Delhi

Name & Address of Establishment Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Name & Address of Principal Emp Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

For the Month of : Jul-21

																	Da	te/Uı	nits															
Serial	Name	Gender	26	27	28	29	30	31	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	No. of
1	2	4																5																6
339464	MUKESH KUMAR	MALE	Α	W	Α	Α	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	23
339935	MANORANJAN SHARMA	MALE	Α	W	Α	Α	Α		Α	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	21
546362	TINKU	MALE	Р	Р	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
726245	INTIYAZ ALI	MALE	Р	W	Ρ	Р	Ρ		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Ρ	Р	Р	Р	Ρ	W	Ρ	Р	Р	Р	Р	Р	W	26
726551	JAGDISH	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Ρ	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
726309	CHOTE LAL PRASAD	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
735917	BISHAMBAR DAS	MALE	Α	W	Α	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	24
729051	GOLU	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	P	Р	Р	Р	W	26
737836	HEMANT KUMAR SAH	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Α	Α	Α	Α	W	Р	Р	Р	Р	Р	Р	W	Р	Р	. 6	dience los		Р	W	12
736490	SONU MISHRA	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	The	() ()	_	Р	W	26
741418	BHUPINDER	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р				Р	W	25
743271	ATUL SINGH	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Α	Α	Α	Α	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	12
741419	RAJESH KUMAR	MALE	Р	W	Ρ	Р	Ρ		Р	Р	Р	W	Р	Р	Ρ	Р	Ρ	Р	W	Р	Ρ	Р	Р	Р	Ρ	W	Ρ	Р	Р	Р	Р	Р	W	26
741420	ISUB	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Р	Р	Ρ	Р	W	Р	Ρ	Р	Р	Р	Ρ	W	Ρ	Р	Р	Р	Р	Р	W	16
736390	RAVI SINGH	FEMALE	Α	W	Α	Α	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	23
736726	ANITA		Α	W	Ρ	Р	Ρ		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Ρ	Р	Р	Р	Ρ	W	Ρ	Р	Р	Р	Р	Р	W	25

REGISTER OF WAGES Form XVII

[See Rule 78(1)(a)(i)]

UDL2

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana) Name and address of Contractor :-

Nature and location of work ...:- House Keeping /Delhi....

Name and address of Establishment in/under which contract is carried on ... Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Name and address of Principal Employer :-Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041 Wage period Monthly.

Sl. No.	Name of workman	Serial No.	Designation /	No. of	Units of	Daily-rate			Aı	mount of v	vages ear	ned				Deduc	ctions		Net	Signature/	Initial of
		in the register of workman	nature of work done	days worked	work done	of wages / piece rate	Basic Wages	Dearness Allowances	HRA	Incentiv e	ARREAR BASIC	LEAVE PAY	BONUS PAY	Total	PF	ESI	GPAI/ LWF	OTHER /GTL	amount paid	Thumb impression of workman	contractor or his repre- sentative
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22
1	MUKESH KUMAR	339464	HOUSE BOY	23	NA	612	14072	0	0	0	1232	1218	1172	17694	1740	133	0.00	95	15726	A/C Pay	BANK PAY
2	MANORANJAN SHARMA	339935	HOUSE BOY	21	NA	612	12849	0	0	0	960	1112	1070	15991	1569	120	0.00	95	14207	A/C Pay	BANK PAY
3	TINKU	546362	HOUSE BOY	26	NA	612	15908	0	0	0	1200	1377	1325	19810	1944	149	0.00	95	17622	A/C Pay	BANK PAY
4	INTIYAZ ALI	726245	HOUSE BOY	26	NA	612	15908	0	0	1538	1248	1377	1325	21396	1950	161	0.00	95	19190	A/C Pay	BANK PAY
5	JAGDISH	726551	HOUSE BOY	26	NA	612	15908	0	0	0	1136	1377	1325	19746	1936	149	0.00	95	17566	A/C Pay	BANK PAY
6	CHOTE LAL PRASAD	726309	HOUSE BOY	26	NA	612	15908	0	0	1538	1136	1377	1325	21284	1936	161	0.00	95	19092	A/C Pay	BANK PAY
7	BISHAMBAR DAS	735917	HOUSE BOY	24	NA	612	14684	0	0	0	1232	1271	1223	18410	1809	139	0.00	95	16367	A/C Pay	BANK PAY
8	GOLU	729051	HOUSE BOY		NA	612	15908	0	0	0	1184	1377	1325	19794	1942	149	0.00	95	17608	A/C Pay	BANK PAY
9	HEMANT KUMAR SAH	737836	TECHNICIAN	+	NA	742	8904	0	0	0	1444	770	742	11860	1004	89	0.00	95	10672	A/C Pay	BANK PAY
10	SONU MISHRA	736490	HOUSE BOY	+	NA	612	15908	0	0	0	1200	1377	1325	19810	1944	149	0.00	95	17622	A/C Pay	BANK PAY
11	BHUPINDER	741418	HOUSE BOY		NA	612	15296	0	0	0	1216	1324	1274	19110	1877	144	0.00	95	16994	A/C Pay	BANK PAY
12	ATUL SINGH	743271	HOUSE BOY		NA	612	7342	0	0	0	0	636	612	8590	831	65	5.00	95	7594	A/C Pay	BANK PAY
13	RAJESH KUMAR	741419	HOUSE BOY		NA	612	15908	0	0	0	1200	1377	1325	19810	1944	149	0.00	95		A/C Pay	BANK PAY
14	ISUB	741420	HOUSE BOY	+	NA	612	9790	0	0	0	1136	847	815	12588		95	0.00	95		A/C Pay	BANK PAY
15	RAVI SINGH	736390	HOUSE BOY	+	NA	612	14072	0	0	0	1216	1218	1172	17678	1738	133	0.00	95		A/C Pay	BANK PAY
16	ANITA	736726	HOUSE LADY	25	NA	612	15296	0	0	0	1200	1324	1274	19094	1875	144	0.00	95	16980	A/C Pay	BANK PAY



Jul-21

FORM XX [See Rule 78 (1) (a) (ii)]

Register of Deduction for Damage or Loss

UDL2

Name and Address of Contractors : G4S Facility Services (I) Pvt. Ltd. Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, under which contractors is carried on:
village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

		Father's /	1 /	of damage	Damage	against	explanation	deduction	No. of	Date of 1	ecovery	
Sl. No.	Name	Husband's Name	Designation	or loss	or loss	deduction	was heard	imposed	instalments	First	Last	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13

NO DEDUCTION HAS BEEN MADE IN THE MONTH OF July-2021



FORM XX I I See Rule 78 (1) (a) (ii) l Register of Fines

UDL2

Name and Address of Contractors:

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Sl. No.	Name	Father's /	Name of	Act/Omissio	Date of	Whether	Name of	Wage periods	Amount of	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO FINE HAS BEEN CHARGED IN THE MONTH OF July-2021



FORM XX II [See Rule 78 (1) (a) (ii)] Register of Advance

Name and Address of Contractors: UDL2 Name and Address of Establishment in / G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, under which contractors is carried on:

village Jharsa , Gurgaon - 122001 (Haryana) Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Sl. No.	Name	Father's /	Name of	Wage	Date and	Purpose(s)	No. of	Date and	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11

NO ADVANCE HAS BEEN GIVEN IN THE MONTH OF July-2021



FORM XXIII

REGISTER OF OVERTIME

(See Rule 78 (1) (a) (iii)

UDL2

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Nature and Location of Work: House Keeping, Delhi

Name and Address of Establishment in / :

under which contractors is carried on Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Name and Address of Principal Employer: Amazon Seller Services Pvt. Ltd D6, Udyog Nagar, Peeragarhi Industrial Area, New Delhi - 110041

Seriol	Name of	Father's/Husbands	Sex	Destination	Date on	Total	Normal	Overtim	Overtime	Date of	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO OVERTIME HAS BEEN PAID IN THE MONTH OF July-2021



ACCIDENT BOOK

(Regulation 66) **FORM**15

EMPLOYEES' STATE INSURANCE CORPORATION

Name of Factory:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

SI. No.	Date of Notice	Time of Notice	Name & Address of Injured Person	Sex	Age	Insurance No.	Shift, department and Occupation of the employee	Cause		ls of Ing			What exactly was the injured person doing at the time of accident	signature or the	Signature and designation of the person who makes the entry in accident book	Name, address and occupation of two witness	Remarks , if any
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18

NO EMPLOYEE MET WITH AN ACCIDENT DEPLOYED AT Amazon Seller ,WAZIRPUR IN THE M/O july-2021



MUSTER ROLL

FORM XVI See Rule-78 (1) (a) (i) Central Rules, 1971

PDL2

Name & Address of Contractor: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature & Location of Work : House Keeping / Delhi

Name & Address of Establishment Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Name & Address of Principal Emp Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

For the Month of : Jul-21

																	Da	te/U	nits															
Serial	Name	Gender	26	27	28	29	30	31	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	No. of
1	2	4																5																6
737878	GYANESHWAR	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
737694	MEENA	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
737851	DINESH VAID	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
737833	RAJENDKUMAR	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	17
737877	ANIL KUMAR	MALE	Α	W	Α	Α	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	23
743270	PHOOL CHAND	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	18
738212	MOHAMMAD AMAAN	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25



Form XVII REGISTER OF WAGES

[See Rule 78(1)(a)(i)] PDL2

Name and address of Contractor:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature and location of work:- House Keeping /Delhi.....

Name and address of Establishment in/under which contract is carried on ... Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Name and address of Principal Employer:- Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034 Wage period Monthly. Jul-21

Sl. No.	Name of workman	Serial No.	Designation /	No. of	Units of	Daily-rate			Ar	mount of v	vages earı	ned				Dedu	ctions		Net	Signature/	Initial of
		in the register of workman	nature of work done	days worked	work done	of wages / piece rate	Basic Wages	Dearness Allowances	HRA	Incentiv e	ARREAR BASIC	LEAVE PAY	BONUS PAY	Total	PF	ESI	GPAI/ LWF	OTHER /GTL	amount paid	Thumb impression of workman	or his repre- sentative
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22
1	GYANESHWAR	737878	HOUSE BOY	26	NA	612	15908	0	0	0	1184	1377	1325	19794	1942	149	0.00	95	17608	A/C Pay	BANK PAY
2	MEENA	737694	HOUSE LADY	26	NA	612	15908	0	0	0	720	1377	1325	19330	1886	145	0.00	95	17204	A/C Pay	BANK PAY
3	DINESH VAID	737851	HOUSE BOY	26	NA	612	15908	0	0	0	1088	1377	1325	19698	1931	148	0.00	95	17524	A/C Pay	BANK PAY
4	RAJENDKUMAR	737833	HOUSE BOY	17	NA	612	10401	0	0	0	1248	900	866	13415	1327	101	0.00	95	11892	A/C Pay	BANK PAY
5	ANIL KUMAR	737877	HOUSE BOY	23	NA	612	14072	0	0	0	1232	1218	1172	17694	1740	133	0.00	95	15726	A/C Pay	BANK PAY
6	PHOOL CHAND	743270	HOUSE BOY	18	NA	612	11013	0	0	0	0	953	917	12883	1246	97	5.00	95	11440	A/C Pay	BANK PAY
7	MOHAMMAD AMAAN	738212	HOUSE BOY	25	NA	612	15296	0	0	0	816	1324	1274	18710	1829	141	0.00	95	16645	A/C Pay	BANK PAY



FORM XX [See Rule 78 (1) (a) (ii)]

Register of Deduction for Damage or Loss

UDL8

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd.

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

		Father's /	1 /	of damage	Damage	against	explanation	deduction	No. of	Date of 1	recovery	
Sl. No.	Name	Husband's Name	Designation	or loss	or loss	deduction	was heard	imposed	instalments	First	Last	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13

NO DEDUCTION HAS BEEN MADE IN THE MONTH OF July-2021



FORM XX I [See Rule 78 (1) (a) (ii)] Register of Fines

UDL8

Name and Address of Contractors:

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Name and Address of Establishment in / under which contractors is carried on :

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Sl. No.	Name	Father's /	Name of	Act/Omissio	Date of	Whether	Name of	Wage periods	Amount of	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO FINE HAS BEEN CHARGED IN THE MONTH OF July-2021



FORM XX II [See Rule 78 (1) (a) (ii)] Register of Advance

Name and Address of Contractors:

UDL8

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Sl. No.	Name	Father's /	Name of	Wage	Date and	Purpose(s)	No. of	Date and	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11

NO ADVANCE HAS BEEN GIVEN IN THE MONTH OF July-2021



FORM XXIII

REGISTER OF OVERTIME

(See Rule 78 (1) (a) (iii)

UDL8

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Nature and Location of Work: House Keeping, Delhi

Name and Address of Establishment in / :

under which contractors is carried on

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, HAFED Warehousing Complex, B Block Inner Ring Road, Wazirpur, Adjoing to DTC Bus Depot, New Delhi 110034

Seriol	Name of	Father's/Husbands	Sex	Destination	Date on	Total	Normal	Overtim	Overtime	Date of	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO OVERTIME HAS BEEN PAID IN THE MONTH OF July-2021



ACCIDENT BOOK

(Regulation 66) **FORM 15**

EMPLOYEES' STATE INSURANCE CORPORATION

UDL7

Name of Factory:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

SI. No.	Date of Notice	Time of Notice	Name & Address of Injured Person	Sex	Age	Insurance No.	Shift, department and Occupation of the employee	Cause		ls of Ing	jury		person doing	Name, occupation, address and signature or the thumb impression of the person(s) giving notice	Signature and designation of the person who makes the entry in accident book	Name, address and occupation of two witness	Remarks , if any
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18

NO EMPLOYEE MET WITH AN ACCIDENT DEPLOYED AT Amazon Seller ,MAYAPURI IN THE M/O July-2021



MUSTER ROLL

FORM XVI See Rule-78 (1) (a) (i) Central Rules, 1971

UDL7

Name & Address of Contractor: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature & Location of Work : House Keeping / Delhi

Name & Address of Establishment Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri, New Delhi 110064

Name & Address of Principal Emp Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri, New Delhi 110064

For the Month of : Jul-21

																	Da	te/U	nits															
Serial	Name	Gender	26	27	28	29	30	31	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	No. of
1	2	4																5																6
743446	RAJ KUMAR	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Α	Α	Α	Α	W	Α	Α	Α	Α	Α	Α	W	Α	Α	Р	Р	Р	Р	W	4
743454	ADESH KUMAR	MALE	Α	W	Α	Α	Α		Α	Α	Α	W	Α	Α	Α	Α	Α	Α	W	Α	Α	Α	Α	Α	Р	W	Р	Р	Р	Р	Р	Р	W	-
743221	RAHUL KUMAR BALMIKI	MALE	Α	W	Α	Α	Α		Α	Α	Α	w	Α	Α	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	w	Р	Р	Р	Р	Р	Р	W	16



Form XVII

[See Rule 78(1)(a)(i)]

UDL7

DECICTED OF MACE

Name and address of Contractor:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature and location of work:- House Keeping /Delhi....

Name and address of Establishment in/under which contract is carried on ... Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri,New Delhi 110064

Name and address of Principal Employer: Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri,New Delhi 110064 Wage period Monthly . Jul-21

Sl. No.	Name of workman	Serial No.	Designation /	No. of	Units of	Daily-rate			Ar	nount of v	wages ear	ned				Dedu	ictions		Net	Signature/	Initial of
		in the register of workman	nature of work done	days worked		of wages / piece rate	Basic Wages	Dearness Allowances	HRA	Incentiv e	ARREAR BASIC	LEAVE PAY	BONUS PAY	Total	PF	ESI	GPAI/ LWF	OTHER /GTL	amount paid	Thumb impression of workman	contractor or his repre- sentative
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22
1	RAJ KUMAR	743446	HOUSE BOY	4	NA	612	2447	0	0	0	0	212	204	2863	277	22	5.00	95	2464	A/C Pay	BANK PAY
2	ADESH KUMAR	743454	HOUSE BOY	7	NA	612	4283	0	0	0	0	371	357	5011	485	38	5.00	95	4388	A/C Pay	BANK PAY
3	RAHUL KUMAR BALMIKI	743221	HOUSE LADY	16	NA	612	9790	0	0	0	0	847	815	11452	1108	86	5.00	95	10158	A/C Pay	BANK PAY



FORM XX [See Rule 78 (1) (a) (ii)] Register of Deduction for Damage or Loss

UDL7

Name and Address of Contractors : G4S Facility Services (I) Pvt. Ltd. Name and Address of Establishment in / G4S Facility Services (I) Pvt. Ltd. Tower A. 5th floor Unitech World (Cyber park) sector 39. under which contractors is carried on :

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, under which contractors is carried on : village Jharsa , Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri, New Delhi 110064

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri, New Delhi 110064

		Father's /	1 /	of damage	Damage	against	explanation	deduction	No. of	Date of 1	recovery	
Sl. No.	Name	Husband's Name	Designation	or loss	or loss	deduction	was heard	imposed	instalments	First	Last	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13

NO DEDUCTION HAS BEEN MADE IN THE MONTH OF July-2021



FORM XX I [See Rule 78 (1) (a) (ii)] Register of Fines

UDL7

Name and Address of Contractors:

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Name and Address of Establishment in /

under which contractors is carried on:

Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri,New Delhi 110064

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri,New Delhi 110064

Sl. No.	Name	Father's /	Name of	Act/Omissio	Date of	Whether	Name of	Wage periods	Amount of	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO FINE HAS BEEN CHARGED IN THE MONTH OF July-2021



FORM XX II [See Rule 78 (1) (a) (ii)] Register of Advance

Name and Address of Contractors : UDL7
G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

Name and Address of Establishment in / under which contractors is carried on:

village Jharsa , Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri, New Delhi 110064

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri,New Delhi 110064

Sl. No.	Name	Father's /	Name of	Wage	Date and	Purpose(s)	No. of	Date and	Date on	Remarks
1	2	3	4	5	6	7	8	9	10	11

NO ADVANCE HAS BEEN GIVEN IN THE MONTH OF July-2021



FORM XXIII

REGISTER OF OVERTIME

(See Rule 78 (1) (a) (iii)

UDL7

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Nature and Location of Work: House Keeping, Delhi

Name and Address of Establishment in / :

under which contractors is carried on Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri, New Delhi 110064

Name and Address of Principal Employer: Amazon Seller Services Pvt. Ltd, B-68, Mayapuri Industrial Area, Phase I, Mayapuri, New Delhi 110064

Seriol	Name of	Father's/Husbands	Sex	Destination	Date on	Total	Normal	Overtim	Overtime	Date of	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO OVERTIME HAS BEEN PAID IN THE MONTH OF July-2021



ACCIDENT BOOK

(Regulation 66) **FORM 15**

EMPLOYEES' STATE INSURANCE CORPORATION

Name of Factory:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

	Date of Notice	Time of Notice	Name & Address of Injured Person	Sex	Age	Insurance No.	Shift, department and Occupation of the employee	Cause		ls of Ing	jury		What exactly was the injured person doing at the time of accident	Name, occupation, address and signature or the thumb impression of the person(s) giving notice	Signature and designation of the person who makes the entry in accident book	Name, address and occupation of two witness	Remarks , if any	
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	

NO EMPLOYEE MET WITH AN ACCIDENT DEPLOYED AT Amazon Seller , Mohan Cooperative IN THE M/O july-2021



MUSTER ROLL

FORM XVI See Rule-78 (1) (a) (i) Central Rules, 1971

UDL8

Name & Address of Contractor: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa, Gurgaon - 122001 (Haryana)

Nature & Location of Work : House Keeping / Delhi

Name & Address of Establishment Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

Name & Address of Principal Emp Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

For the Month of: Jul-21

																	Da	te/U	nits															
Serial No.	Name	Gender	26	27	28	29	30	31	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	No. of Days
1	2	4																5																6
734705	RAM NIWASH KUMAR	MALE	Α	W	Α	Α	Α		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	22
737622	KULLU SINGH	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
737903	SAROJ	MALE	Α	w	Α	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	w	Р	Р	Р	Р	Р	Р	W	24
738148	MANISH	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
741489	AAKASH CHOUHAN	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
741614	KALPATARU SAHOO	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
741616	VINEET	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
742031	NARESH KUMAR	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25
741111	SANJIB TIRKEY	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
337548	HARSH KUMAR	MALE	Р	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	26
737623	MOHIT KUMAR	MALE	Α	W	Р	Р	Р		Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	Р	Р	Р	Р	Р	Р	W	25



REGISTER OF WAGES

Form XVII

[See Rule 78(1)(a)(i)] UDL8

Name and address of Contractor:- G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39, village Jharsa , Gurgaon - 122001 (Haryana)

Nature and location of work:- House Keeping /Delhi....

Name and address of Establishment in/under which contract is carried on ... Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

Name and address of Principal Employer:- Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044 Wage period Monthly. Jul-21

Sl. No.	Name of workman	Serial No.	Designation /	No. of	Units of	Daily-rate			Aı	mount of v	wages ear	ned				Dedu	ctions		Net	Signature/	Initial of
		in the register of workman	nature of work done	days worked	work done	of wages / piece rate	Basic Wages	Dearness Allowances	HRA	Incentiv e	ARREAR BASIC	LEAVE PAY	BONUS PAY	Total	PF	ESI	GPAI/ LWF	OTHER /GTL	amount paid	Thumb impression of workman	or his repre- sentative
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22
1	RAM NIWASH KUMAR	734705	HOUSE BOY	22	NA	612	13461	0	0	0	1216	1165	1121	16963	1669	128	0.00	95	15071	A/C Pay	BANK PAY
2	KULLU SINGH	737622	HOUSE BOY	25	NA	612	15296	0	0	0	1136	1324	1274	19030	1867	143	0.00	95	16925	A/C Pay	BANK PAY
3	SAROJ	737903	HOUSE LADY	24	NA	612	14684	0	0	0	1216	1271	1223	18394	1807	138	0.00	95	16354	A/C Pay	BANK PAY
4	MANISH	738148	TECHNICIAN	26	NA	742	19291	0	0	16280	1330	1669	1607	40177	1960	303	0.00	95	37819	A/C Pay	BANK PAY
5	AAKASH CHOUHAN	741489	HOUSE BOY	26	NA	612	15908	0	0	0	1216	1377	1325	19826	1946	149	0.00	95	17636	A/C Pay	BANK PAY
6	KALPATARU SAHOO	741614	HOUSE BOY	26	NA	612	15908	0	0	0	1232	1377	1325	19842	1948	149	0.00	95	17650	A/C Pay	BANK PAY
7	VINEET	741616	HOUSE BOY	26	NA	612	15908	0	0	0	1216	1377	1325	19826	1946	149	0.00	95	17636	A/C Pay	BANK PAY
8	NARESH KUMAR	742031	HOUSE BOY	25	NA	612	15296	0	0	0	1008	1324	1274	18902	1852	142	0.00	95	16813	A/C Pay	BANK PAY
9	SANJIB TIRKEY	741111	HOUSE BOY	26	NA	612	15908	0	0	0	1216	1377	1325	19826	1946	149	0.00	95	17636	A/C Pay	BANK PAY
10	HARSH KUMAR	337548	HOUSE BOY	26	NA	612	15908	0	0	0	1248	1377	1325	19858	1950	149	0.00	95	17664	A/C Pay	BANK PAY
11	MOHIT KUMAR	737623	HOUSE BOY	25	NA	612	15296	0	0	0	1072	1324	1274	18966	1859	143	0.00	95	16869	A/C Pay	BANK PAY



FORM XX

[See Rule 78 (1) (a) (ii)]

Register of Deduction for Damage or Loss

UDL8

Name and Address of Contractors : G4S Facility Services (I) Pvt. Ltd.

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

			Employment	Particulars	Date of	cause	employee's	Amount of		Date of	recovery	
		Father's /	/	of damage	Damage	against	explanation	deduction	No. of	First	Last	
Sl. No.	Name	Husband's Name	Designation	or loss	or loss	deduction	was heard	imposed	instalments	instalment	Instalment	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13

NO DEDUCTION HAS BEEN MADE IN THE MONTH OF July-2021



FORM XX I [See Rule 78 (1) (a) (ii)] Register of Fines

UDL8

Name and Address of Contractors:

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Name and Address of Establishment in /

under which contractors is carried on:

Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

Nature and Location of Work:

House Keeping, Delhi

Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

							Name of				
							person in				
						Whether	whose				
			Name of			workman	precence			Date on	
			Employment	Act/Omissio		showed	employee's	Wage periods	Amount of	which	
		Father's /	/	n for which	Date of	cause	explanation	and wages	fine	fine	
Sl. No.	Name	Husband's Name	Designation	fine imposed	Offence	against fine	was heard	payable	imposed	realised	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO FINE HAS BEEN CHARGED IN THE MONTH OF July-2021



FORM XX II [See Rule 78 (1) (a) (ii)] **Register of Advance**

Name and Address of Contractors: UDL8

Name and Address of Establishment in /

G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

under which contractors is carried on:

village Jharsa, Gurgaon - 122001 (Haryana)

Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

Nature and Location of Work: House Keeping, Delhi Name and Address of Principal Employer:

Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

	Sl. No.	Name	Father's / Husband's Name	Name of Employment / Designation	Wage	Date and amount of advance given		No. of instaination of which advance to be repaid	Date and amount of each instalment repaid	Date on which last instalment was repaid	Remarks
İ	1	2	3	4	5	6	7	8	9	10	11

NO ADVANCE HAS BEEN GIVEN IN THE MONTH OF July-2021



FORM XXIII

REGISTER OF OVERTIME

(See Rule 78 (1) (a) (iii)

UDL8

Name and Address of Contractors: G4S Facility Services (I) Pvt. Ltd. Tower A, 5th floor Unitech World (Cyber park) sector 39,

village Jharsa, Gurgaon - 122001 (Haryana)

Nature and Location of Work: House Keeping, Delhi

Name and Address of Establishment in / :

under which contractors is carried on Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

Name and Address of Principal Employer: Amazon Seller Services Pvt. Ltd, A-45, Mohan Cooperative Industrial Estate, Badarpur, New Delhi-110044

						Total					
						Overtime					
				Destination		Worked or				Date of	
				/ Nature of	Date on	Production in	Normal	Overtim	Overtime	Which	
Seriol	Name of	Father's/Husbands		Employmen	Which	Case of Piece	Rates of	e Rate of	Rate	Overtime	
No.	Workman	Name	Sex	t	Overtime	Rate	Wages	Wages	Earnings	Wages Paid	Remarks
1	2	3	4	5	6	7	8	9	10	11	12

NO OVERTIME HAS BEEN PAID IN THE MONTH OF July-2021

